
Theory Field Examination

August 2015

Problem for Econ 207B

There are three questions for this problem. Answer them all.

1. Prove Knuth’s result about opposing interests over stable matchings. That is,

show that given a marriage market and two stable matchings µ and ⌫, all the men

weakly prefer µ to ⌫ if and only if all the women weakly prefer ⌫ to µ.

2. Consider a model of indivisible objects where each agent can consume exactly one

object. There are six agents {1, 2, 3, 4, 5, 6} and six objects {a, b, c, d, e, f}. The

initial endowment vector µE and the preference profile P are given by:

µE =
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Find the unique core allocation. Characterize the price vectors that support it as

a Walrasian equilibrium.

3. Consider a pairwise kidney-exchange problem with binary preferences that involves

nine patient-donor pairs. The compatibility graph is given in Figure 1. Identify

the underdemanded, overdemanded, and perfectly matched pairs. Characterize

the Pareto e�cient matchings.
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Figure 1: Pairwise Kidney Exchange Compatibility Graph
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m 2 {0, 1} w. c = (m,w)
r = (rm, rw).

u(c|r) = u(m,w|rm, rw) = m+ ↵w + µ(m� rm) + µ(↵(w � rw)),
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